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1 (2012 15(1))
A(g) +B(g) —=C(g) +D(g)

1:
1
/°C 700 900 830 1000 1200
1.7 1.1 1.0 0.6 0.4

(1) K= AH

2017 4

514000

2 1L
CO,(g) +H,(g) ==CO(g) +H,0(g)
¢( CO,) *c(H,) =c(CO) *c(H,O0)

1 mol CO,.
1.2 mol H,.0.75 mol CO.1.5 mol H,0

3 (CeHy)
( CgHy) CyH, (g) ==CsH,( g)
+H,(g) - 0. 40 mol
2 L
2
2
/min 0 10 20 30 40
n(CgHyo) /mol  0.40  0.30  0.26  ny ns

n( CgHg) /mol  0.00 0.10 n, 0.16  0.16

30 min  n( CgHy) =0.16 mol
30 min



2017 4

CHy(g) ==CHs(g) + Hy(g)

¢ ) 0.20mol/L O 0
e ) 0.08 mol/L. 0.08 mol/L.  0.08 mol/L
¢t ) 0.12mol/L 0.08 mol/L 0.08 mol /L.

_C( CsHs) = o Hz)

- c( CgHy)

_0.08mol /L x0.08mol /L
0. 12mol /L.

=0.053mol/L
:0.053,

4 (2013
7 TaS,
TaS,(s) +21,(g) ==Tal,(g) +S,(g)
AH>0 (1),
(1) K=___
=1 1 mol 1, ( g)

29(1)) “

TaS,(s) + 2L(g)=——Tal,(g) + S,(g)

n( ) 1 mol 0 0
o) X 0. 5x 0.5x
() 1—x 0.5x 0.5x

0.5x ><().596
o ctTal) ~e(S) v T v
= CZ( Iz) - ( 1 _x) 2 =
V
x=0.667 mol  I,(g)
(Mxloo% =66.7% »
1 mol
A( Tal S
:c( a42) c( 2);66.7%0
4 (Iz)
3. *» ol
5 (2015 [-28(2))

I".cl"

37

AgNO, AgCl

K_(AgCl) =1.8x107"" K_( Agl) =8.5

sp sp

x107"7,

DAg" +1 =—=Agl |

@Ag" +Cl"==AgCl |

o(17) _ e(Ag") ~c(17) _ K,(Agl)

c(Cl7) ~¢(Ag®) -¢(Cl7) ~ K, (AgCl)
8.5x107"

= —==4.7x107",
1.8 x10
:2.7x107%,
6 (2015 I -26(4))
pH (
1 x 10’ mol /L
) o pH (
Zn** 0.1 mol/L)
3.
3
Zn( OH) , Fe( OH) , Fe( OH) ,
K.
b 10-"7 10-"7 0%
F62+
Fe’*; c(Fe’™) <1 x10  mol/L

K, Fe(OH), =c(Fe'") - ¢'(OH") =107

¢(OH") =107"" pH =2.7, c
(Zn**) =0.1 mol/L K, Zn(OH), =
e(Zn**) +(OH™) =107"7 c¢(OH™)
=10 pH=6,

'Fe’*:2.7:6

( 12017 =01 - 15)



